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Tnf-{ : 1oo

f€sr : (1) €sfr sF{ arFgrd tt
(2, qFT-rrtT { fq rrq Frtsr qnqrtr-" qqfi qrir * Yw ftfuqt

(g) q{q-q{ fr * Erug tqq trq t: qug'3{'3ftt Erug'q'l

(4) Erus'sr'fr rrgq mqf€ r t r ro wqRw rltn'rt * qF tqq trq tt
t€vrr{sn Eo qtfuqt

(b) EIus 'q' t rrfq mqrfi e t zr ca; if sTrdRq' fdd'tr Rq trq tt
(G) rfr€ qqq * fdq 3TrEk ' ss* {qq effua tt

qug '3r'

aqFrs uvq

1. €Ei fd*-w g-fir 3Tqf Bnr-gk-frT q fdfuq : 5

,2\.^^\\-l(, ai{n Fj 41 3{iRrn fir=it * sq ii ffi .n vS wr *'n :

1[-f-* t I r[ r - 1 .l

(a) zl-*-1 r+11 (b) tl.-r-".1-l
r[ 1 1 I I t 1 I(c) tLr .r - " _ 1.] (d) 

Lr r - 
".11
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Gi) 2 tan-L x 4-T ql;i t :

(o) tan-r # (b) tan-l *,

(c) tan-r L:.'- (il tan-r 
L + x2

zx 
\w/ 2x

(iii) fr€ (3, 4, 5) e1 Y elq{ R ffi{q Et t :

(a) .64 (b) Jn
(c)4@)5

(iu) rrq tsr -+ f<q 3t$ra !, 2, 3 t + 3€*1 FdF. M Et'ft :

(a) -h,h'# (b) h'h'#^
(c) .,1T4, ",h4, 'h4 @) L, 2' 3

(u) erqit t (2, 3 _4) d. sttT:W€ 4{i qra €TldeT q.r q.frs-qur t :

(a) t*tu-i=o (b) ;.i-1=L
(c) i*I*1=1 (d) ie'i1234

2. fcfi rPTrfr q1 Tfd e1fqq t 5

(d qRqT 7, r-edq q1 tff ii 6ftd tr gs-+1 p66 eiqd Afr
. -\.

Ei

(b) .ru 6-l ,, qi wrs-f,{ qT q{ """"""' ditn t

(c) ffi ql qrT q'T sTfeffidq # qt iq dni tt

d) dH(ot r elqnvq* sndt n6f.-fir{qr6eErfwmfi1ert I ,a*=
0

(e) 3lif+-dn fqfirufi' q'$$fi fW'sa laqq fr 3rgqn {* t t
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3. qg/3T{rFr {ff-{q :

(a) <i sqidi qR"?i sT qRrr Iurrq-e{ YIq T61 t}m tr

(b) frgv q1 dt{ qrfqdrr3il ERI frqffud qRqii an frq W rtar t r

(c) qqcr€ 6T sTf$RTq 6-q C qqt'*Tq lx + my + nz = p *m t r

(d) q-6gEq-*i Iutiq. r deTI TF{Trr.M wtqit bry d by, ti riaiq r = b,, . by* ailt

t'r

\e) v6sEq"+t wrs. 4l ql;I t g 31iq5 6i-*r i r

4. v€i q}kqi qr-* :

'gT' tdt

r;\ | fh-x\dx\e) J '
n

I. xn
\tr.) - log *,n x'"'-

(o). I ,"' sin bx d,x

(b) [ n* cos bx dx

?.,rr^eot(c) J f{x)dx--o Uii) ; *lczsinbx-bcosbr]a'+b

fn,,'e'^(d) J | \x) dx Uu) 
"- -t 

[a cos bx + b sin br]
o a-+b

rdx(e) J rfr,.U
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b. qd' yrq/qrf ii snr dtqq :

(1) Aa-ts-{f{ fefq ERr o + q{Tf, sm e-G +r qx *,i-r r

(2) qat-t$R-{ fqt?r t Jn s-T qFT vw gaqr{fu qvqrq d,n r

(3) .2642805 + .3781E0b ql qn lefqq r

(4) ax q 3rqCFTI;T ffiq r

I(5) I sec x dx s] qFT eqr tin ?

qug'E'

erfuffiu urr

6. qR qRvr la + bl=li -61 d, d ; dprT i + Etq q;r e}q an eifuqr a

STqierT

k6 slhq t*' :

__)^l
a=i+2j+5k,b=i- j+2k qq c.=i-2j+k

eqilcnq E r

\._7. €Ttrdl ; .ei-si++nl=1 dsT r.(-i+j7=4 +qtqe1elqn6eifqqr

sIejl-qt

frrqi 
^ 

ABC * tdq qRqT frfq t fq-e dfq\ fu :

a2 =b2 +c2 -2bccosA.
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8. Ts ri-A ql qkT Rqt-f,$r f,i( qifrq fqsfl *q (t, -2, B) nq f:-sqr b t I qqt*-{ur

qr q-rffq sq qi fdfuq | 4

3{eIqT

T€ qff, tur ql RRfl Rfr-fiwT an eitqq n fu€ (r, 2,3) t 1q{dl t nqr qR{r

i * zj + si, $ q+r-aq t r gs-*t qT-frq sq $ fefuq t

rd*9. Jt_* qTqFlaraeifqqt 4

sTEltN

f,----jj

J log x dx q-l sl-{ dl-d qTl_qq 
I

"110. J a * ra* "F"t sFI Fld HiFqq I

sTqET

I
f*
J xe" dx s1 s1;i nra oifqq r

0

'1\
11. 

T _7 q1 sTifrrn Fl=il q qm qitqq 
r

2x - 5 ,., -Jr- ',.---*' 
jr ., , ,fira ., *5ClT ql 3TiRF ftr=ii q qm diqqr

12. qR tan-tx+tan-l y+tan-l z=n d,dfugqtfqqf*'r+y+z=wz | 4

fis6 qitqq t*. :

832

sin-l x + sin-i y = sin-' frufJ - rJl]f
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1s. feq qifq\ f*. :

cosltan_l{sin (cos rr)il = 
#

ST9TTIT

qR ! - etun-" A d fue F,tFqq i*. :

(I+xz)yr+(2x-1)y, =0.

rq3fu um

14. sqrT RTeid t tan Br s-r eiErRFT qiftq :

sTqqr

qR x=at2 q !=2at A,d * stq1-aFraqlf,qqr
dx'

15. t = x[E - xf, x s' ffiH' qrt * fqg qT ftiild t ?

sTgrET

!,*^ Tfl s1 E-qT g +q1. efd +€u-s q,1 E{ t e-c € tr fr*s.d q qk fu-s E{*dfi ?frtrqztrfr.tr
10. ffi€fuH @ * eTrerR vt v€diaiq Wt-F vn +liqq : b

v

15

T7

4

5

4

5

3
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STEIEr

* qr nRlit " etr y 6r eEriaiq Iufm. p t, fr fse qifr\ f*. :

,rt

o = 
o" +'-oi - o;-Y

2o,6,

L7. qR d Trqrr{qq TnT 0.8 der 0.2 t fr s61s-q-*r rrTq. an etFqq I b

3TEIfl

qR qqrgwr t€t( mwr: Br + t2y -tg = 0 d{t gr + By - 46 = 0 d, tr sfiTcrrer

1oTi*. ;n-a qfFrq 
r

18. qn fr tf serq eTri * fr.q A, B *r c ql eTtueT Eh-wr: i,l q * tr qqfr

t ffi q*. + qerq sTri sl erfuq-dr {ra qlfqq s

3Tsril

qfi 6'q{r I 30qo BTit i .TFK firqr t, 20Eo I aqr{H d\T Lyvo Er=il fqqd * en
t r cs* 'rfurd 

qr {qrq{ sT trF{ di s1 wr qrfTfi* t ?

19. q-R , 
6

f ,'-lr- x+-l
f(x)=l r+t

I

l-2 x=-L

qr eire q;r qfrq{rry mtFqq r

sTejl-qr

3xg\x) - . _r, d fr-e qifuq f*. :

eof(x)=fog(x)

7

f(x) qil x =

f(x) = -Jx-J
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20. 3s srklcT 6r qqtfiur $rd qifqq dr fq-€.it (-1, 1, 1) nqT (1, -1, 1) t d-+r qrin

t nqr qrRET x + 2y + 2z = S qr rtq tr 6

sTET-TT

3-€ rilA a-1 q"qtflur Frd qifrq dr td-Euii (0, 0; 2), (0,2, 0) (tTI (2, 0,0) t *{1
Iqtft t 3t{ tsrs-sT *q v.rd€ x + y + z = z qq frqd tr

2r. Br tsTilit + qt-q 6i qtnr qtr ETd eitfqq ffi qRn €-qt-dn{uT : 6

-)r = (1 + 2X)i + (2 +3f)j + (3+ af)6 F

r = (2+ 3p)l + (3 + afii + @ + Syt)k

sTEIET

f€-€ qttqqfn W + = # = +.ft f = + = + qGrR vft*
q-ft-r E r vffi rd€ + irfun Fn etiqq r
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